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MARKS SCHEME ADDITIONAL MATHEMATICS MODULE 2019

SUB
NO SOLUTION Mm
1. m=2n-1 m+1 T
or n=— K1
2
2
- 1y =1_72 m+1
nQ2n-1)+42n-1)=3-2n’ m(:::;|]+4m=3_2( : ] "
—7¢,/,7=-4 4)(- ; 2
n= @7 11 -4Q))
2(4) n= Kl 5
2(2)
n=07111,-2.461 m=04221, m=-5.922 ::
m= 04222, -5.922 n=0.7111, n=-2.46l1
2(a) 2sin xkos x
1-(1-2sin’ x) Kl
_kosx
sin x
=cotx N1
(b)
Sh d cycle 8
ape and cy P1
Amplitude -
Shipted
" P1
23X
Y=ar N1
. 3x
Draw straight line y=—-1 - K1
4r
No of solutions: 2 N1
-
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3(a)

3

27, 2n(j + D.27(j +2),...or #d, n(d + 2),x(d+9),...

P
10, 10 Kl

5 [ (7d)+9(27)|=1257 OR —2—[2(27rr)+9(27r)] =125x
diameter =3.5 cm NI
b) |d=2x PI
3.5 +(n-1)27)=19.57 K1
n=9 , tidak mencukupi /not enough ( Both ) N

4a) | p=0250r ¢=0.75
P(X =3)="c,(0.25)' (0.75) "
0.2503 N1
(b) (i) P(X >60) = P(Z 5 60—54)
12 K1
=0.3085 N
(ii) 0.524 or -—0.524 P1
e ]‘254 =-0.524 K1
m=4171 "
S5(aXi) | RB = RC + CB Pl
3a—6b N1
i) | 10a—4b N1
) | RQ=3ma -6mb «
OP =-5na-4nb K1
-Sna-4nb =(6m-4)b-(3m+2)a K1
3m+2=5n@6m-4=-4n Kl
2 4

m=;,n=;(both) NI
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S Kl
6 _}’2=—5y+14 N1 \
A(4.2)
e Kl
e L] or — Jr( ) (10)
2,
2 % Kl
@90 6
| 2 2]
[ (4)? oﬂ L] )
vt -x(2) (10 K1
| F-5| +37@00
N1
%n’ , Success ( both )
7 REFER TO THE GRAPH 10
8(n) %=3ax2+2bx i
5 K1
0=3a(1) +2b
2=a(1)’ +b(1)’ “
a=-4.b=6 (both)
bh)(i 2 .
( )() I(4—X'}t\'
2T K1
A 10
[4x 3]_2
-2y
{4(2)——] [4( -9)- ] Xi
2
10— N1
___.—-4/
'2 matematil tambahan
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12(a) P:ms :
() | 30,00 <100=120 Kl
Harga R = RM36.00
N1
(i) | Lo _125x140 "
]20m 100'
=175 N1
(b)) ]20=(2'xx)+(4x140)+(3><120)+(5><110) 10
2444345 KIK1
1202 1470+2x
14
x=105
. N1
i) | 120 P1
[ _120x120 K1
2020/2016 —
100 NI
=144
13 REFER TO THE GRAPH
14(a) | PR? =18 +20” —2(18)20)cos80° K1
PR=24.474 cm NI
) | SinZPSR _sind0® K1
24.474 16 - o
sinZPSR = 79.44°,100.56° ( both )
© ) | ,SPR=180°-40° —79.44° P1
- =60.56
RS 16 . RS?=16%+24.47 -2(16)(24.47)c0s60.56"| Kl
sin60.56°  sin40°
N1
RS =21.677Tcm
n in40°
(i %(20)(1 8)sin80° or 5(21-677)(24-474)5'“ Kl
1 1 74)sin 40° Kl
%(20)(18)sin 80° + 5(21 677)(24.474)s1
3 NI
347.77 cm’
0
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(a) [:30x+20y<900 N
II: y-x26 NI
Il: y<4x N1

(b) Draw ONE straight line correctly
Draw ALL straight line correctly
Shaded Region

(c)(i) 13kg N1

iy 28 K1

30(2)+208) Kl
/ RM220.00 N1

K1
K1
N1

|
1
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